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el DB OIEsEa) (el &
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
S0l A 40,720 41,720 1,000
OYst=ZH]| 36,800
-EAEE SHAN 22,400,000& 22,400
-2eZely ARE 800,000 x4 4 *33] 9,600
“NESAN)| ADRERNE2ATY EYH,EX)
4,800,000 4,800
O3 &l 3,920
-2EAEYE SHAN 3,920,000& 3,920
202 04| 4,200 4,200
01 =Wyl 4,200 4,200
=0 A 4,200 4,200
ORAN2E SHH A 4,200,000 4,200
203 PR =&IH| 4,200 4,200
M4 BASISEL2FEY| 4,200 4,200
=0 A 4,200 4,200
OBNSHAL=XH|(HR 23H) 4,200
&3 2501 Olat 350,000« 12& 4,200
JI2HHI(23HL) 3,480 0 3,480
201 LB AH| 1,680 0 1,680
01 AtR2teldl 1,680 0 1,680
SHSOIH 1,680 0 1,680
202 04| 1,800 0 1,800
01 2LHAH Y] 1,800 0 1,800
SHSOIA 1,800 0 1,800
J123HI(0lAH 44,224 4,648 39,576
201 LEL2AH| 28,024 2,248 25,776
01 AFR2teld| 28,024 2,248 25,776
=0 A 28,024 4. 496 23,528
Ogt=2H]| 44,000
~AROHEN [OE AMEREN SHH A
44,000,000 44,000
O=gH| 29,204
-2EAEYE SHAN 2,248,000 2,248
SRR M2 ASE B A
26,976,000& 26,976
SH=O0IH 28,024 73,224 A45,200
202 04| 16,200 2,400 13,800
01 2yl 16,200 2,400 13,800
S0 A 16,200 4,800 11,400
OFRNSY SHHA 2,400,000& 2,400
OXZDNEN 2 MEE ZHAH A
28,800,000 28,800
SHSOIA 16,200 31,200 A 15,000
J12A3H|(2AH 5,800 5,800 0
201 LEt2AH| 2,800 2,800 0




S JlEER
Nz HYESAAHI(DIEELA!)(DIEHIIE
chel: Jl= AL OI=EDA) (cr9l: &g
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
01 AtR2teld| 2,800 2,800
S0 A 2,800 2,800
OZ | 2,800
-2A2E SHA A 2,800,000& 2,800
202 04| 3,000 3,000 0
01 Z2LHAH Y] 3,000 3,000 0
=20 A 3,000 3,000 0
ORAN2Y SHH A 3,000,000& 3,000
J|2ZHH(ZE8) 8,036 8,036 0
201 LBt Ab| 3,836 3,836 0
01 AF22telb] 3,836 3,836 0
S0 A 3,836 3,836 0
OZ&| 3,836
-2EAEE SHAN 3,836,000& 3,836
202 Odd| 4,200 4,200
01 2yl 4,200 4,200
S0 A 4,200 4,200
ORAN2E SHH A 4,200,000 4,200
J|222H|(AXHAHA S B XH) 0 5,800 A\5,800
201 LEr2AH| 0 2,800 A2,800
01 AtR2teldl 0 2,800 A2,800
=0 A 0 5,600 A5,600
O= | 2,800
-2ENSE SN A 2,800,000& 2,800
SH=O0IH 0 2,800 A2,800
202 4| 0 3,000 A3,000
01 =Wyl 0 3,000 A3,000
=01 A 0 6,000 6,000
ORAN2E SHH A 3,000,000& 3,000
SAHZ20IHI 0 3,000 23,000




